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A ETHERT Him (HES) min (B 5) Eif(&Z5) tim(B28)
BE 128° 50" 27" 129° 00" 28" 128° 06" 13” 128° 21" 00” 128° 55  02”
BE 32° 417 44" 32° 46" 17”7 32° 14’ 36" 31° 59" 11” 32° 53" 49”
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2 AETH#EE
BALkm
#h[X ER174F 184 ERR194F ERL204F Epg214F
AE™ 420.73 420.77 420.77 420.81 420.81
=T 158.43 158.44 158.44 158.45 158.45
= 49.48 49.48 49.48 49.49 49.49
EZi# 68.39 68.40 68.40 68.40 68.40
=H® 33.81 33.82 33.82 33.84 33.84
%75 85.27 85.27 85.27 85.27 85.27
=5 25.35 25.36 25.36 25.36 25.36
£E10R1BRE EEREE Y NEE T
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B f7.km
B H b Eih TIpoN [REF Db EONTL i
miE 20.87 62.12 9.70 86.71 24.12 217.29 420.81
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=5 5 £ m & #h X

1 BI1IE 326.39| fRIIHIX

2 AES 37.35| fEII#X

3 S 8.75| fEIHIX

4 5E 1.38] {EIIHX

5 FE 051 $EIHX

6 BRING 0.03| f&EIHX

7 28 112 BI#HRX

8 5SS 553| EZi@HX

9 U B 318 =HEMK

10 =8 23.82| HFZHX

11 S 047 FERX
BRABE

55 5 A m & #h X |BES| B 4 m & X
1 55 2700 fEI#X 27 S 0.001| #EIH#HX
2l VISE 1470 f&IX 28 wTE 0.001| &I
3 pod=" 1.230| {fEIHX 29 = 0.001| #EI#IX
4 RIE S 1.100| f&IH#X 30 BINE 0.001] #EI#IX
5| ZREE 0751 &I 31 EB -l wBIsX
6| ERES 0.267| fRIHX 32| EZHEE 0290 EI#EKX
7 BE 0.250( fEiIHX 33 e 0.066| =EiL#IX
8l NFIYE 0202 #EIHX 34 ZHVE 0.060] FEiLH#X
9of voxB 0112| fEIHX 35| MIING 0.026] EL#EX
10 ™M/FE 0112 &I 36 ING 1.270] EZ#thX
11| KiRES 0.073| fEIHX 37 EE 0550 EZ @K
12| IMRERE 0.051| &I 38| INEERS 0.250| EZ AKX
13 XRE 0.020| {EIHX 39 FRE 0.250| EZ AKX
14 BETE 0018 & IHIX 40 BING 0170 EZ KX
15| /KB 0.008| fEIHIX 41 RS 0.150| EZ@thX
16 —FE 0.004| $EIIHIX 42 == 0.460| IXTE X
17] #®%AFB 0.004| {EIHX 43 SN 0.030| ITE H#IX
18] /NG 0.004| {fEIHX 44 FING 0014| IFFEHX
19 2 0.003| fEIHIX 45 2INE 0.006| I%7E HX
20 /B 0.003| fEIHX 46 28 0.720] ZETE#RX
21| BENMNE 0.003| #EIHX 47 RKiES 0072 ZE=E#KX
22| FHEFAKE 0.003| {fEIHX 48| B/INEG 0059 HFE#HX
23 BRias 0.002| {EIHX 49 KHMINE 0.024] HTE#HEX
24 WS 0.002| {EIHX 50 404 0.005| H=E#HX
25 FaNS 0.002| {EIHX 51 ARE 0.003|] H=E#HX
260  E/INS 0.001| I 52 /—i# 0001 HEH#HX
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X 32 £ (km) B2KEDEIE (%)
RIGER 4,208
EE™ 535 12.7
T20F481BRE BEMET
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—£&sa)il
KF4 A& ALt FRIBETE (km) EAIER (m)
=T EEmET 27.60 9,059
. #ol &= AKET (2.10) 1,640
=TI —
£/ = HET (4.50) 4,065
&/ 8 = EHET (2.50) 3,150
- | 1 FHET 6.12 2,076
RE I B HET (1.60) 956
ATE)I ATE I B HHT 3.67 790
/RN /RN ¥& Z RHET 3.30 1,500
/AR m/hARII AEH] 4.50 1,500
—0Jll -0l =LA 34.50 13,995
IEI = =LA 5.30 1,640
— HEII =/LHET 2.90 1,338
4 il =ILAT (0.90) 932
AFII HFII =LA 1.70 1,601
RZE)I A FZmET 17.00 7,700
NI AN FZHET 5.80 3,905
Fhi Fhn F 2 HET 7.85 1,850
A= BZE E 2 HET 2.70 1,400
— KIENI sz 75 BT 17.58 5,500
MR s 75 BT (5.40) 1,500
EDII EDI gk 725 BT 6.77 4,200
o Sl gt Fi5 BT 32.41 14,671
_ SEE s 75 BT (3.14) 2,433
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KF4 A& ALt FRIBETE (km) EAIER (m)
HERF I BEFI RFHET 0.72 3,484
Al e =ILAT 2.46 1,545
/N N F 2 HHET 0.001 400
t &I €& FZHET 0.02 1,700
FhZE)I g ) FZmET 0.001 180
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Sim B{I:°C
F£A TRR1745 TRL184 TR194 T204 T 214
1H 7.0 7.9 8.6 8.6 7.4
2R 6.9 8.2 10.1 6.8 10.7
3A 9.3 10.3 11.6 10.9 12.0
4K 15.2 14.3 14.8 14.9 15.0
58 18.5 18.4 19.3 18.5 19.0
6 A8 22.9 22.3 22.6 21.6 22.4
78 26.7 26.6 25.9 27.5 26.1
8A 27.2 27.6 28.1 27.3 27.0
9R 25.3 235 26.2 24.6 24.0
108 20.2 20.4 20.8 19.9 19.7
118 14.7 15.8 14.5 14.5 13.9
128 6.9 10.3 10.9 9.6 12.9
iy 16.7 17.1 17.8 17.1 175
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BKE B3 . mm
F£A TRE17 45 184 Ti194 T 204 T 214
1H 57.0 91.5 36.5 94.0 1455
2R 175.0 135.0 1115 46.0 151.5
38 249.0 113.0 158.0 152.5 228.0
4 H 1475 333.0 138.5 174.5 276.0
5A 140.5 395.5 108.0 233.5 91.5
68 58.5 386.5 151.0 366.0 291.0
78 347.0 354.0 365.0 195.5 336.0
8H 174.0 366.5 139.0 218.5 147.0
98 528.5 362.0 121.5 279.0 92.0
108 73.0 11.0 62.0 48.0 74.5
118 265.0 165.0 45 116.0 2315
128 145.0 48.0 205.5 107.0 79.0
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